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4 BEELHE

B EEHNE : 2021-03-17 19:57:52

EXEBNAH B INEEIEE MongoDB SLHIATIE(LBIMRENNK, NIART HAMREEENMRASE,

MAAIAIR

o iR @ 2020484,

s BFIRECE : =R 8 CVM Mit& N8#%32GB, LHilE, SKAHIMMBEINY, —18#%32GB8Y CVM EMENFIF&l
AH) CPU 4Ti, BHMRLEZD CVM EiF—L, L—4 CVM [ERE100%M, "TA4D CVM i LKLtz
2 IERTIN

o PAXTE : MongoDB 4.0 L (BIASEZRM) .

MR

YCSB T #ithit

M7 =R

HEFHIELL0GB, NFE—Mig, B YCSB 25 0.5read/0.5update #1 0.95read/0.05update =T
8 throughput(ops/sec). RAL(us) FEHBEREE, WAL(us) EHENIE, FEXF100F200FH K HihiE R THMH
BERIE.

I RE

CVM E| MongoDB sXfIH9F I E 4 0.35ms,

Bf%E : Minimum = 0.30ms. Maximum = 0.44ms. Average = 0.35ms

GBS T
1. E&#HE (410GB)

nohup ./ycsb-0.15.0/bin/ycsb load mongodb -s -P workloads/workloada
—-p mongodb. ur l=mongodb://mongouser :password@10. xx. xx. 30:27017, 10. xx. xx. 28:27017, 10. xx. xx. 5:27017/
admin?w=0 -p table=test -threads 300 -p recordcount=10000000> loadlog. txt &

2. 0.5read/0.5update
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https://github.com/brianfrankcooper/YCSB
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nohup . /ycsb-0.15.0/bin/ycsb run mongodb -s -P workloads/workloada -p mongodb. ur l=mongodb://mo
ngouser: password @10. xx. xx.30:27017, 10. xx. xx. 28:27017, 10. xx. xx. 5:27017/admin?w=0 -p table=tes
t -p recordcount=10000000 -p readproportion=0.5 -p updateproportion=0.5 -p insertproportion=0
-p operationcount=100000 -threads 100 >runlog. txt &

3. 0.95read/0.05update

nohup . /ycsb-0.15.0/bin/ycsb run mongodb -s -P workloads/workloada —p mongodb. ur L=mongodb://mongo
user: password @10. xx. xx.30:27017, 10. xx. xx. 28:27017, 10. xx. xx. 5:27017/admin?w=0 -p table=test -p r
ecordcount=10000000 -p readproportion=0.95 -p updateproportion=0.05 -p insertproportion=0 -p oper
ationcount=100000 -threads 100 >runlog. txt &

® WA :

« -p operationcount=100000 #RIEEAHITN AR, FEFRIEHITNEIZEZ+28 L, TR
BTN,
o 7w=0 FHY w K7~ write concern,
o w:l (MBEREA) BXRAINREESLELBIEEN LD mongod LHISKEIAREELA, RENL,
o w:0 GENMEXEA) FREMEMIN, FALATEMETEARSHY, BN FELRAEXMNEREFTE
AHEREKHRERROFREFE R,
o w:>1 (ATFEIREIMNE) RERTREEATRNEE, SEETR.

A=

R&EHE50:50
MongoDB #i#& threads throughput(ops/sec) RAL(us) WAL(us) CPU #IfE=x
2#%4GB 100 3188 24091 38254 100%
2#%4GB 200 5510 34475 38022 100%
41%8GB 100 7058 8355 19887 100%
4%%8GB 200 13590 14391 14983 100%
61%16GB 100 8970 22132 51 100%
61%16GB 200 10041 28696 10966 100%
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12#32GB 100 29462 6727 35 100%
12#%32GB 200 47815 4673 3681 100%
24#%64GB 100 107047 1826 33 100%
24#%64GB 200 51046 7802 27 100%
24#%128GB 100 130811 1486 32 100%
24#%128GB 200 49274 8054 27 100%
32#%240GB 100 154253 1254 32 100%
32#%240GB 200 52148 8243 1108 100%
48%%512GB 100 174284 1103 28 100%
48%#%512GB 200 121713 3237 32 100%
BE&EHL95:5

MongoDB ##& threads throughput(ops/sec) RAL(us) WAL(us) CPU FIFZ
2#%4GB 100 2738 38216 178 100%
2#%4GB 200 10093 20178 11561 100%
41%8GB 100 14380 6364 7631 100%
4%%8GB 200 26459 7651 5369 100%
61%16GB 100 13707 7650 56 100%
6%%16GB 200 45796 4383 3928 100%
12#%32GB 100 115529 902 37 100%
12#%32GB 200 56751 3658 31 100%
24#%64GB 100 160227 668 29 100%
24#%64GB 200 112755 1876 32 100%
24#%128GB 100 159130 659 26 100%
241#%128GB 200 112993 1936 32 100%
32#%240GB 100 167518 634 28 74%
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32#%240GB 200 172424 1244 35 100%
481%512GB 100 173768 608 31 50%
48%512GB 200 211986 1012 33 85%
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